27H2

2020. 2.

HiSeowd ® = 5 2 A

SOULOFASIA T /\] 7] d} 1\] A HE _‘fl




1

4AR}

AL | 2020 28 &
AANE | 20209 2¢€ &

7 b = R i)
P 2 o H] =21,341,000,0004
2 2 7 o 21,219,090,909¢]
T gy B 7 7F R A =121,909,091
st A 21,341,000,0009
APl

7§8-37}: L=332m, B=18.8m, 7} 82 =117} L=149m, B=22.1m

HAU&
FERANY 5 AUAABNEY (£3, 2 14)
89717t

2020. 2. 17. ~ 2020. 12. 31. (10.57}¥)




E F U § A e



7 = 3 o o 2
X1 01 21 H| 609,769,857

BT 487,815,885
Jlas 68,536,078
5 2 | 52,969,089

1,219,090,909

Ol

7t

1,219,090,909

. FILEAI M (10%)

121,909,091

S Al

1,341,000,000




A A e LA

—~~

2XIE)
089 A2/t HSHEBA 2 1714 HSASY ALANRIB2ZY (371) @R
O 897|¢t 1 2020. 2. 17. ~ 2020. 12. 31.

s & ™A, B4 & F =g = A

1. Aol 609,769,857
1) &FeldH| 521,462,333
- EF 87|80 ol - 3 81.49 6,399,096 521,462,333
2) 7|&X¥ ey 88,307,524

ol - 3 13.80 6,399,096 88,307,524
2. ®ZH| 4 1 487,815,885
3. 78 1 68,536,078
4. 2 4H| 52,969,089
1) FXHH]| 1 26,073,116
2) EXAFE HE 10.46 2,527,985 26,442,723
3) =AM el4fH| 1(103]) 453,250

A :1+2+3+4

1,219,090,909

5.

Okl

2 7t

1,219,090,909

6. 2II7FXIMI

121,909,091

o |
_Elzlo—lH

1,341,000,000




ddird e y] H4HE2 A (2KHE)

=712l : 290,868 g/ x 22 /e = 6,399,096 <-¥
=719 : 240,454 |/ x 22 /e = 5,289,988 A&
609,769,857 2
AArg e 7|=¢l
521,462,333 &
EZ 137|9
81490 2.8 «x 6,399,096 = 521,462,333
A EE 7=
88,307,524 ¥
=9l
13.80 olLgl  x 6,399,096 = 88,307,524

HQ1ziH|2] 80%)

609,769,857  x 80% 487,815,885 ¥

;




Ct. 71 = B((7F + LhH2l 6.25%)

( 609,769,857  + 487,815885 ) x 625% = 68,599,108
= 68,536,078 ¥ (X&) (E=+Eal:-35787)
2t = H 3|
52,969,089 ¥
)& B (&F 7= AYdH|e 5% )
521,462,333 x 5% = 26,073,116 ¥

2) AR R (EEQIE 19120194 BtE7| Che = 2B AR, 2020.01.01 HE )

79552 x (16 / 12 x 22 + 16 / 12 x 1 / 12 x 22 ) = 2,527,985 /€
2,527,985 x 1046 7f|¥ = 26,442,723

453,250 &

Al: 7b+Lt+CH+2} 1,219,090,909 ¥

Ok

3 7t o

4

1,219,090,909

R |

10

121,909,091 &

OBk
‘42

A : 1,341,000,000 ¥




) A 453,250
O EMQlfu] MEZHA
B A #2) £A el H|
O & 2 A AMALARY R E0M A|AHI(SPRS)2| Y ol ohs AFE (2L E 2 CD-WRITE)2F A7l L (Ag) el S7HALZ
Od &
- AFE(ZHE 2 CD-WriteZ &) TH| 1,654,545 2 -2 44(483H )
* AZIE M 13 MEFY = 1,554,545 + 483 = 32,386
- 27 (Ay) TIB 776,364 ol - 29z 5H(603 M )
* AZIE M 13 MEFY = 776,364 - 603 = 12,939 ¢
- ZHE M 12H| SME (Y| / HE3F)
1,554,545 + 483 + 776,364 + 603 = 45,325
o HZHEIA - 45,325 x 10 = = 453,250
O 27|20M R OM X 3] T|FE = 45,325 X s = -
O zZEEDM YR TM X 3] 7|F = 45,325 X 0 3 = -
@ XX EM : Q2R IM X 3] 7|F = 45,325  x 0 3 = -
A 453,250 /4]
32019 3hEY| MY AF HE B2 ol B ZAR 79,552 2
s RIZE BUIRLE AR 2018.4%
E 9 T2 S
ZHE=E 1,111,000
24H 71cm(28%) 599,000
2704 A3, Za}, oFod 854,000




A
al

w
Y,

ISRt dSHESAH 2 1K

C&89 3

O 9|2t 2020. 2. 17. ~ 2020. 12. 31.

ofl
Y | o o o o o o o o | o =) o o
T - || = = SRl ==k T]oo]a
gl o|lelole|l=|=2]s]a
_ W: = @© © © © © ~ © ~N | w © — o
=~ |
!
ol o N < N N N N N N N
=z S Y} — Y} Y} Y} Ye} Y} o [ o
des|lw|b|d || & || o|d|@
ol — o o o o o o o o | o
_ o o o o o o o o ol o o o Q
I I I B I =T =0 I =0 =0 B B IR
k= felelelelele|ls|S|s|<c|8]<S]s
w o of [[= o o of [[= of [[= °
[=]
@
o o of [[= o o of [[= of lef |[e °
il o af [[= o o af [f= =f 2] (| e
o e 2f [f= e e 2f |f= HEENIE e
1 2 20 (2 2 2 2 (2 2013 12 2
)
ol ol 2 2 2 2 2 2 2 2 2 2 2
= s = = = = = = = B I | ) | =
o
Al
o
[aV}
l o
NS
4|. g o o o o o o o o o o o
[aV) % wﬂ/: — — — — — — - — — — —
o
Al
o
g
N
~
mm o 2 2f |f= 2 2 2f |f= HEIEEIE e
2L 2 20 (2 2 2 2 (2 2012 12 2
3
o 2 2f |f= 2 2 2f |f= 2f |f= e
I 2 20 (2 2 2 2 (2 2 (2 2
! 2 2f [f= 2 2 2f |[= 2f |[= e
L = = [I= = = = = = = =
¥ ¥
o 2 2f [f= 2 2 e e e
Ik = = [I= = = = = =
3
] MR 2 2
ANl |~|le|~]le|~]lle | ~]||le ~||le ~llel~
NIEN NN J )] IS
iim m [ || | m || om || 1]
) M) Ko | K[ Ko | Ko | Ko | Ko [ Ko [ KO | Ko Bl
= =
L7 [ I I I I I O I ol _
oJ =
el o) Jfal (o) e _|a _Jo) _ &) [ 51
W S Rl Tl RO R BT Rl R TN /NE ST [y
N R Y N G e A S =~ | &
S0 g[S A0 (S HOIS O[S HO (S OIS HI|S &1 1S B o o
Ul I R R 1 <t 1 B2 ) g =
L .
20Kk = <3l ~




At 22| J|=0l > (BY)
Jleol Sold DI Z2H(&)
ol 95.29
(85%) 81.49 E%';)# BHAkY| 3 6 9 12
l& X &2l &2l (15%) 13.80 1.46 4.46 7.46 10.46
2 10.46 1 1.46 3.00 3.00 3.00
=z 3 10.46 0.852 1.46 3.00 3.00 3.00
E 10.46 0.614 1.46 3.00 3.00 3.00
= = 2 10.46 0.852 1.46 3.00 3.00 3.00
N == 10.46 0.852 1.46 3.00 3.00 3.00
=z 3 10.00 0.852 1.00 3.00 3.00 3.00
= 3 9.00 0.852 0.00 3.00 3.00 3.00
. E= 10.46 0.852 1.46 3.00 3.00 3.00
- = 3 9.00 0.852 0.00 3.00 3.00 3.00
i) = 2 6.00 0.852 0.00 1.00 3.00 2.00
Al
= 3.46 0 1.46 3.00 3.00 3.00




O AEAg2el8Y D=2 A4F 2
1. A&Ag2e] E90(2H: 2020. 2. 17. ~ 2020. 12. 31.
2. J|=2l HHXI
- = s = S | AEY () (Ea{;ﬂl” EHAOLE | WS R ZE gt B X Il 2t
1) &= J1=21(85%)
HA I =0l a = 1.000 10.460 1.000 10.460 10.460 2020. 02. 17. ~ 2020. 12. 31.
s 71 s = 1.000 10.460 0.852 8.910 8.910 2020. 02. 17. ~ 2020. 12. 31.
3 Ab 1 x= = 1.000 10.460 0.614 6.420 6.420 2020. 02. 17. ~ 2020. 12. 31.
3 A2 ES=1 1.000 10.460 0.852 8.910 8.910 2020. 02. 17. ~ 2020. 12. 31.
E)EF sF2 s = 1.000 10.460 0.852 8.910 8.910 2020. 02. 17. ~ 2020. 12. 31.
3 A3 s = 1.000 10.000 0.852 8.520 8.520 2020. 03. 01. ~ 2020. 12. 31.
1' 3 M4 s = 1.000 9.000 0.852 7.670 7.670 2020. 04. 01. ~ 2020. 12. 31.
; er & s = 1.000 10.460 0.852 8.910 8.910 2020. 02. 17. ~2020. 12. 31.
et & 2 s = 1.000 9.000 0.852 7.670 7.670 2020. 04. 01. ~ 2020. 12. 31.
d w s = 1.000 6.000 0.852 5.110 5.110 2020. 06. 01. ~ 2020. 11. 30.
E= 2 81.490 81.490
a=x=Jl=el A 10.000 96.760 81.490 81.490
JI&XIA J1&2(15%)
Jl=Xd Jlsel ‘ Jd o= 6.000 81.490 + 850% x 150% x 0.96 = 13.800 3,919.2+4,057.4 = 0.965
Jl=X&d=e = 13.800 HE = 0.96
3) Jlsel £ I
A=+ J|=XA 81.490 + 13.800 = 95.290




